(1)

MCC—300




17



[
Mz (1) MCC—300
.
HaEs| HaEs A H= No. HaEs 2R H=
1 TE300002 IN#EE 26 x 26 UNI 6873 2 21 TE711009 NRILTL—k 1
. X 21—
2 TE702308 it FvT 2 22 TE621099 TGE M6 X 30 UNI 5931 4
3 TE631006 F— 5x5x8 UNI 6604/A 2 23 TE701154 NRILAH—F 2
Z'?'):L— ~ >
4 TE621100 T ST 1 24 TE901109 INURIL 1
5 TE701162 T—LI509 1 25 TE701152 =y § Y &N 1
6 TE401114 T—LAR—H— 2 26 TE651018 AT LARGL—IN— 1
7 TE621101 A1) 1—M8 x 8 UNI 5929-67 1 27 TE651016 EXRY)2 S D30Xx4%x25 1
8 TE701158 A4 Xy TM30x% 1.5 1 28 TE651017 EXro— )5 1
9 TE601025 | Z'')R=w7F )L M6 UNI 7663A 4 29 TE701153 Y B—=050D 1
10 TE701161 hRERYRRILE 1 30 TE651014 1)>4" BKC 156 1
11 TE701173 T—LI74—5 1 31 TE651015 Z—1)>% 156 52.39 x 3.53 1
12 TE701156 ERvkOvER 1 32 TE651013 | A—")>% 3100 25.07 x 2.62 1
13 TE701157 ERyrFoyT 3 33 TE701151 E X+ D60 1
A9)a— o L 1e g
14 TE621094 TGE M6 x 10 UNI 5931 3 34 TE651011 | EXF1)2 S D60X 6.1 %25 2
15 TE701159 | HARE RO T(2 T AYE 2 35 TE651012 ERNVHR 79k 1
16 A TE711025 7— LA 2 36 TE621096 | R%'J2— TCE M6 x 6 UNI 5931 2
17 TE700015 AR T4 AVE 2 37 TE701146 HESN T — 1
AROV)a—
18 TE621098 TCE M5 X 16 UNI 5931 4
19 TE401112 NRNLVTL—FA—FK 2
91—
20 TE621097 TSP M5 x 12 UNI 5933 4

18




[ BamE (2)







&8

R (2)

| Mmcc—300

HmES| BEES Z2E HE No. HmEs & HE
38 TE621095 A1) 1—TCE M4 x 12 4 60 TE651006 | A —')>% 2062 15.6 x 1.78 5
39 TE711008 R—Z 1 61 TE701150 L NES P 2
40 TE62001 F4v7F M24x15 DIN 906 3 62 TE701149 R—ILFvryT 2
41 TE701143 Ev 1 63 TE651007 | A—1)>% 2021 5.28x1.78 2
42 TE671013 —17 361 1 64 TE501016 R—ILRTYY 2
43 TE701142 INFGURRA—JLRAR—H— 1 65 TE611033 R—JL d.6 class T 2
44 TE701141 INTGURRA—)L 1 66 TE651008 A—1>% 108 8.73x1.78 4
45 TE611036 | 7w a2 INA PAF 12120p10 1 67 TE701132 AT—I 1
46 TE611035 | A p Apm?g‘;%lmx 1210 1 68 TE651009 AT=IVAR vk 1
47 TE651008 A—1)>% 108 8.73%x 1.78 2 69 TE501017 ART—=IWART) G 2
48 TE711007 NRLTOvY 1 70 TE70007 3AFvyT 1
49 TE621108 TCE Mg‘f ;{)JU_NI 5931 4 71 TE651010 | A—1)>% 2025 6.07 x 1.78 1
50 TE631005 | UXHEE> 14x3 UNI 6875 1 72 TE50001 ERANRTYDY 1
51 TE501026 JR—U R T 1 73 TE65001 ;’;\Z@:’Jjg 1
52 TE701144 Ty arR)—7J 1 74 TE701147 3AHHF 1
53 TE631007 E> 3x18 UNI 6875 1 75 TE0006 3HTva 1
54 TE701145 avoRT)yT 1 76 TE70005 SHFERM 1
55 TE701140 TSRTAVINEI 1 77 TE671014 1)>% BR 12 INA 1
56 DX671022 1J>% WR 50 1 78 TE651005 A—1>% 2056 14%x1.78 4
57 TE641042 | ZILEDwi4— 1/4 13.4%18%1.5 2 79 ED_tubo Eﬁ’f@;gb 2
58 TE702646 TaqA 2k 1/4G-3/8G 2 80 A161025 ARNTS5—3/8 1
59 TE701148 FIyIN\)LT 1 81 A161026 FRHT5—3/8 1

82 HP600 BEEHR—X(5m) 1

21




